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ST UDY LDENTRE
DEO MAIN - 2023

LCM & HCF ASSIGNMENT

(a) Find the HCF and the LCM of the numbers 154, 198 and 286
154, 198 1oBmIb 286 Su&lul eTemiderlen L5.0UM.6l. WBHID 15.CUT.LD SHTeNwISH.

(b) The ratio of two numbers is 5 : 6 and their LCM is 480, then their HCF is
Bm ecewiseien aldsd 5 : 6 BB Seupsler W.d.o (LCM) 480 eefed
oleOeuewiseier 15.0L.6u (HCE) eresteon?

(a) Find the LCM of (x +4)2 (x = 3)3, (x - 1) (x + 4) (x - 3)?
(x +4)2 (x = 3)3, (x = 1) (x +4) (x - 3)? a0 5.QUT.LD HTeTH.

(b) Find the other polynomial q(x), given that LCM and GCD and other
polynomial p(x) respectively (4x + 5)3 (3x - 7)3, (4x + 5) (3x - 7)%, (4x + 5)3 (3x
= 7)2

(4x +5)3 3x - 7)3, (4x + 5) (3x - 7)2, (4x + 5)3 (3x - 7)? eretiuenr (pemmBui L5.8.10,
15.0um.eu BBID P (X) eTelled q(X) &3 HTEwIS.

(a) Find the largest number of four digits exactly divisible by 12, 15, 18 and

27

12, 15, 18 wommib 27 6lewi&enTe0, U@GSSLIUBLD Wsloufw  HTerE &evudhs
6160016060018 SBITE00ISb.

(b) The greatest number of four digits which is divisible by 15, 25, 40 and 75
15, 25, 40 wBLBID 75 6IWIHTL UGHSHSHIUBLD  WOsUCUflw  BTeTE Bevdhs
6160016006001 SBIT600T .

(a) Find the greatest number that will divide 43, 91 and 183 so as to leave

the same remainder

43, 91 wBmIb 183 M auGEGWL OumTwasd @61 VaHmw CsTEHSWL WsLGLMu
6160016006001 &bIT6001 5.

(b) The greatest number which on dividing 1657 and 2037 leaves
remainders 6 and 5 respectively, is
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1657 woBmid 2037 SFweBemnB GHESGD Oumwsl Weh wesGuw 6 wBpid 5
SHMLSSHBSH 6160 AUGHBS Fnlgul OB GUITILI 6TERTEN6ITS  HTE0IH.

(@) Traffic lights at three different junctions change simultaneously at
morning 8.00 AM. The first light changes once in 30 sec, the second one in
72 sec, the third one in 45 sec. After 8.00 AM. which is the next time they
change simultaneously?

waBouml FTemev  FhHFHLIS6eTe0 o 6T  FTeweD LITHISTIL e EGHH6T  HTEN6V
8.00 wenildb@ @61 CrrsHdlev WIMBLOML Slemer. cpearpid (WenmpGuwr 30 eallemngdE
RUHSID, 75 alelmgdhd @UHHTID, 45 alemodsd @HEHID wipdamer. 8.00 AM
et ewi(bld SLbepaimitd eTIOLIT(RS @6 Flowghge0 LOTBID?

(b) The sum of 2 numbers is 248 and their HCF is 31 What is the number of
such pairs of numbers satisfying the above condition?

@reniy elamwidelel gl (B OHTensd 248 Guwed SeuBpler W.oume 31. @bHsH
BUbHmATEmUW LTHS OFuInsamigul GemoHeile elemiemnlbend 61535606017

The LCM of two numbers is 6 times their HCF. If the HCF is 12 and the one

of the number is 36, then find the other number.
B erewidellent L5.4.0-euTenigl  15.0um.6u. alledT LW WL MSHBG Fwb.  Goeyibd
15.0um.eu 12 1OBBID @F 616wl 36 6lefled LOBOMT(H 6T6RIEN6ITSH  BHT6IIH.

Find LCM and HCF of > N and 24

10’ 25'35 40
9 12 18 21

= 22 oBmid —— &1 15.0um.ey. wBmd 1S4 5.
10’ 2538 LOMBWILD " 601 LIT.6).  LDMBBILD D HITEITSH
Find the GCD of the polynomials x* + 3x3 - x - 3 and x3 + x2 - 5x + 3

x4+ 3x3 - x - 3 opmd x3 + x2 - 5x + 3 eaamid  ueOIWIILE  CHTemerbeiTlest
15.CUT.60  HTEwIsb.

Find the GCD of 3x3 + 3x2 + 3x +3, 6x3 + 12x2 + 6x + 12

3x3 + 3x2+ 3x + 3 impid 6x3 + 12x2 + 6x + 12 ereniid LeLVIBILILS  BHTemerH 61T 60T
15.QUIT.6. SHT60TH.

The sum of three prime number is 84. If one of them exceeds another by 24

then what is the largest prime number?
PG LIBT  6lewidboMesl Fn(BHe0 84 (b elewieneml bHbGHW CUTINSH BB S
oTewTHeiNelT mBHe0 24 elerile0 OLIUI 6TEITEN6NTDH  HTCHIb.
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